Uk ¥ Leo

B

—

_ZO

!

x
)

—_
jo

N

—

_Z.O

oju

ol

X o
oll |
o ofo

T




2445 9 B vh2A] 7

2.

1
5

24 -5 =24 %




Wol7h 307.2cm? 91 FAFZFG 0] QlssUth. 7hE7t 12cm o Al 24
2 em Gui7H)

= cm

>
> HE: 256cm

B




m <
5 %]
& o
Ho il
o o
Q&
—_

i,
o]
% 5
fic3

Ny
25
& L
e
T
K ,_T.
2 W
ey
o
Ho R
ol 9
T
o T
Lﬁ =l
Q

g —~

<o ¥ of

A

o
i<}
._.r._..u
RO

A

@_l\)
~ ¥
B,
L|5“
__088
a8
9
LE__ I
PN R
g0
R3S
o 2§
<
o - -
ol 0
o
— Ko &




Fopigg ekl o), R} by

@® 0.3

B

@ 1.25

® 1.05

A~
25 olx )

@

3
D%
1
]__
@ 4

1
1—
@ 20

1
92—
@ 200
13

©3E




0.375

10 |00

aeliieel

— |

—

15
40

375
1000

‘ 0.375




|
<F

olJ
K

q
<

jas

A
1._0.___0

A

T of
Xl oz
E
™
R
< 5l
o7
]
il o

76 84
18, 1—, 1.
100" & Lgor 188 )

1.72,1

88 89 90 91 92
= 1— 1— 1— 1—
100 @ 100 © 100 @ 100 & 100

‘ adeoh B4k zdo} 7he 0,04 A AR E FHYU, ]

D1




24
28

®

15
20

@

3
1

3

25
100

@

51
86

@

15
20

k2
100




o1
ol

—

ol
o

Z

9 9

;‘g

@ Hdi

@)

FolA o

o

A

Gl o

g

13

@ A

=2 ey

‘@@Eﬂ

B

k3]

F A,

Al O
=

=M Ao 5

=]




10. the % A 2o AL ol AU

O 24000m? = 2.4ha
@)o.3km? = 31ha

® 3.6ha = 36000 m?

@ 150a=1.5ha

@ 24000a = 2.4km?2

® 0.3km? = 30 ha
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1km? = 100 ha = 10000 a = 1000000 m?
5ha = 50000 m?

AR Wol 1 5x5=25(m?)
50000 + 25 = 2000(Hl)
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70cm = 0.7m
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